— ) B o iR

R ELE LT




le’u S

B

f,;_
- ek ot

_ - , 7,;.;#5;: _ I _
o A
T Aw. w

.}7_m_

), A e omeT.  Sh,

2k T5A - wa: AR5

o ﬁ*t‘f‘o? ’77751:'1:'5 _ ~ o
FE </ AR - M J/< S CUEG: .

B AR - )
I _ -
K swerbeneg otocEmat.
B mmBerc SAHEL -
 Foras. 4xg0 = 0.9 - B
2 = 03>




) A LEanNtRiuker b 115 HRAT . o
T U e 77;!17"’5';@1_ S T T T T e —
BN 5 VSY. </
. RoLab _,Q_L _Q !_ L Q:___‘S;J _CL (\_‘5 3,_1-700

D miagve T
awpens  §b o 78 L8 Ah 5L KL BE
-0 330

MR R~ 95 -

BV R I
ME Yo ~b0
18 S50
tR€E S0 b




O W'f- S
A ;fj;%j(? _BX 1%@1 o /F(“/}* S — |

5. 96 w7
s §  0.06 -

@il if? n /ﬂ lF’(‘m () x ( J0 & :?35%) L




R :;E f%;’; T ?‘ oyl ;‘Lmj o
VR Y | .
) B~ (ierebe2y=02
13) l2) fa‘ém B é i [5] E %‘% E%i %m mir; i 4— -
T = SN AT

********* m g [
’ S -
o .
e 1 15678 ez _; - _:::—

2 0 el e

3B,

Eﬁ;ﬂi_ hEw

BN Fo AR .

2RUT o it

A AT hy tieT

:;__¢2;4ﬁ"___4__“ S

I 1 o - - t B .
KORUTT LOOSELEATR

i :
JA07nT o smmrulsns 2500




B T

“EotEt

3ax8+?ox|2+is‘oxu+ﬂlox’% 4540

40 4o

- AL-F oA ]ﬁﬁ 0 LB Ak . BB Ay

JBJJAJ; offfoRitx AnbE . B4R .

____4.005+o!5+025:u0’+5 } N
) 0 BERAER A o He . T




S — —
B VAW, lﬁmai’_?% a

1 m.g@% R

- {enxen)

W et @\ —41 + % @\
\/ (N ﬁ)\

= x(?)+3,x5 —‘4X(9)+57<5_

—_— - N L e ——— —_

R e
= [ | = 19 B




- = =3x -3 - -

o= bx-l#3x-4 = -3+2+ 2 —4

= bx i3x -1~ 4 _ = -3+ 2% +2-¢

B ($xib)e(x+3)

= Bx-x45-3 -
______ - Tx+2




3w s ® = =8k

R LN R S TR S LT S
@ x4 -y R )

W Bx = () Bex (-

(19%-18) = b = 19

ETEE 03
S 34*,}(,5‘) o

(. 1& + U x

ERVNENPPRNI I

Xx + 2(5x-~ l)

5).

27

2@@13>fzu3&§éi:g_

120472+

| IQa—lQa +Cf+8

.0

KORUNC AOODEELEAR  A=0070T G

5 enm e 3o 20 fiaes




=

B ==F

M1 6a—b+5 OEAZ VWX,
Tz, a,b OFEE, 2hFhvunidv,

a DRI A
] bo | —é\ 5
b DR - |

M2 koREF L DHTHBEIC L X0,

(L) 3a—-6b+8a+h = 3a+Bo - 5h v 1h = la - 5f
(2) B3x—~7y—x+2y = M—T:“Qj = Q);-"Bj @
2
(3) x* -4x+2+3x - odx43x+ 2 = X -X+2 L 10
x2x x &M Td
(4) y*=3y-3y2+2y = ﬁiz~3312‘3f|“‘25 - - 2y7- ]

B3 WD 2o0RERLA e,

(1) 4x—7y ,x+5y (2) S5a—2b,—-a—3b
- (- Ty) (05 - (5a-2b) x (za-3b)
+5_ = 59\—2\6;&'3!3

= 4x =Ty X T - So - - 2b-3p

= Ay + X - T4 +5Y

= Fx - 2Y4 = Yo~ bb

4 Ko 2o00k¢, EolXrbHoRE23[ % X v,

(I) 5x+2y ,3x+y (2) 3a—6b,2a+4b

= (5x+24) - 3x+Y) = (30~ 84) = (atih)
RN TR A

- da-bb - 90 - 4b
5x 424 ~3x - 4 o hb e

i 51"3):*251_3 3a - 20 — Gh -4}

x4 - - ok




